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GSE/M-20 1416
ECONOMICS

(Microeconomics)

Paper–II

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question Nos. 1 & 2 are

compulsory. Attempt the remaining three questions,

selecting one question each from any three of the four

units. All questions carry equal marks.
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Compulsory Questions ��������� �����

1. Kamla went to a shop to buy toothpaste. The seller asked

her the brand of toothpaste she wanted to buy: Cibaca,

Pepsodent, Colgate or Vicco. When Kamla enquired about

the schemes available, the shopkeeper told her about the

'buy-one, get-one' scheme available on Cibaca.

Based on this information, answer the following questions:

(a) Which form of the market is described here? State the

concept and its features.
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(b) What does the presence of various toothpaste brands

signify? How does it affect the equilibrium in the

market?

(c) Explain the concept of selling cost in this market.

(d) Are the producers able to earn super normal profits in

the long run in this market? Support your answer with

a diagram. (4×4=16)
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2. (A) Choose the correct answer:
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(i) In which of the following markets the price is
determined by the industry and not by the firm?

(a) Perfect Competition

(b) Monopolistic Competition

(c) Monopoly

(d) All of the above.
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(ii) Shut down point occurs when:

(a) TR > TVC

(b) TR = TVC

(c) TR < TVC

(d) TR = 0.
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(�) TR > TVC

(�) TR = TVC

(�) TR < TVC

(�) TR = 0.
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(iii) A monopolist can discriminate price if two markets

have:

(a) Rising cost curves

(b) Upward sloping cost curves

(c) Different elasticities of demand

(d) Equal elasticities of demand.
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(iv) Selling costs are incurred with a view to increase

the demand for the:

(a) Existing commodity

(b) Future commodity

(c) Public goods .

(d) None of the above.
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(v) According to which of the following law, rent

arises due to intensive cultivation?

(a) Diminishing Returns

(b) Increasing Returns

(c) Constant Returns

(d) None of the above. (5×1=5)

 �!
���
� �������!��
�����	��*����	
#���
��	�<	

�*	�� �B�"�� �	
#	� ��;

7�8 A	'#
� ���#�G�� �	� ���!

7�8 �HI#
� ���#�G�� �	� ���!

7�8 �!	�� ���#�G�� �	� ���!

7�8  �!
�� �
� �	
 �� �����

(B) Match the following :

(i) Two sellers (a) Firm's Equilibrium Point

(ii) Short period (b) Payment for the use of

services of land

(iii) MRP = MFC (c) Duopoly

(iv) Economic Rent (d) Disinvestment

(v) Non-replacement of (e) Fixed factors are constant

depreciated machines (5×1=5)
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(iii) MRP = MFC (*) F��	�3�	�
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(C) Define the following :

(i) What is price discrimination?

(ii) Define factor price theory.

(iii) What is the difference between rent and quasi-

rent? (3×2=6)
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3. Define market. Explain the basis of the classification of

markets. 16
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4. Explain the importance of time element in the determination

of price under perfect competition. 16
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UNIT–II ������–II�

5. Define monopoly. Discuss equilibrium of a monopoly firm

in the short run and long run. 16
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6. Define dumping. Discuss price and output determination

under dumping. 16
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7. Define monopolistic competition. Explain equilibrium of the

firm under monopolistic competition in the short run. 16
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8. What is an oligopoly? Give different types of oligopoly.

What are the causes of emergence of an oligopoly? 16
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UNIT–IV ������–IV�

9. Distinguish between real and nominal wages. Briefly discuss
the factors on which real wages depend. 16
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10. Critically explain the Loanable Funds Theory of interest.
16
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